S O WA

X DfE

A=—x+9 ,B=—9%x+20 ¢t %, ROKXDfE%Z x THVTE LRI\,
—2A—7B

/6

A=—6x—7,B=—5x—30 ¢ &, XROKXDfE%Z x THVTE LRI\,
A+5B

A=3y+5,B=8y—9n L &, ROXDfE%Z y #HTEZ R\,
2A—3B

A=5x—8,B=9x—80 ¢ &, ROXDE%Z x TFHTE LRI\,
2A—9B

A=—5y+9,B=6y+t50t &, XROXDfEZ y xHTEZEI
2A+5B

A=—8s—1,B=—7s+8D ¢ &, XROAXDE%E s #HTE LRI\,
—7A—2B




I . A

X DfE

A=—x+9 ,B=—9%+20 ¢ &, ROXDEZ x FHNTEZRI,
—2A—7B
—2(—x+9)—7(—9x+2)
= 2x—18+63x—14

= 65x—32

65x—32
A=—6x—7,B=—5x—3D L ¥, RORXDE%Z x THTEZ I,
A+5B
(=6x—7)+5(—5x—3)
= —6x—7—25x—15
= —31x—22
—31x—22
A=3y+5,B=8y—90 ¢ ¥, ROXDfEi% y ZHVTELRI WV,
2A—3B
2(3y+5)—3(8y—9)
= 6y+10—24y+27
= —18y+37
—18y+37
A=5x—8,B=9x—8D & ¥, XKOADlE% x FH TEZ LI,
2A—9B
2(5x—8)—9(9x—8)
= 10x—16—81x+72
= —T71lx+56
—71x+56
A=—5y+9,B=6y+50L &, RORXDfE%Z y ZHVTEX R,
2A+5B
2(—=5y+9)+5(6y+5)
= —10y+18+30y+25
= 20y+43
20y +43

A=—85—1,B=—7st8D ¢t %, RORXDE%Z s N TEHE X I,
—7A—2B

—7(—8s—1)—2(—7s+8)

56s+7+14s—16

70s—9
° 70s—9




